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b) What would be the rotaf yield per acre if 35 trees were planted? if 36 trees were planted? if 37 trees
were planted? Organize your results in a table.
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d) Ifx represents the number of trees per acre, express the total vield per acre as a function of x. Use that

function to determine the number of trees that should be planted per acre to maximize total vield.
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b) What would be the total yield per acre if 35 trees were planted?
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number of trees per acre, express the total yield per acre as a function of x. Use that

d) Ifx represents the
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acre e 3?2:‘? yield per fruit tree is fairly constant at 150 pounds per tree when the number of trees per
decn ewer. For each additional tree over 35, the annual yield per tree for all trees on the acre
8 ases by 2 pounds due to overcrowding,
What would be the yield for one tree if 35 trees were planted? if 36 trees were planted? if 37 trees were
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b) What would be the total yield per acre if 35 trees were planted? if 36 rees were planted? if 37 trees
were planted? Organize your results in a table.
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d) Ifxrepresents the number of trees per acre, EXpress the total yield per acre as a function of x. Use that %@h\ ﬁtt\d.

function to determine the number of I.ree\thal should be planted per acre to maximize total yield.
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b) What would be the total yield per acre if 35 trees werc planted? if 36 trees were planted? if 37 trees
were planted? Organize your results in a table.
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d) er of r acre, express the total yield per acre as a function of x. Use that
function to determine the number of trees that should be planted per acre to maximze tolal yield.
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i) The annual yield per fruit tree is fairly constant at 150 pounds per tree when the number of trees per
CIt::l'e is 35 or fewer. For each additional tree over 35, the annual yield per tree for all trees on the acre
ecreases by 2 pounds due to overcrowding.
a) What would be the yield for one tree if 35 trees were planted? if 36 trees were planted? if 37 trees were
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b) What would be the zofal yield per acre if 35 trees were planted? if 36 trees were planted? if 37 trees
were planted? Organize your results in a table.
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d) Ifx represents the number of rees per acre, express the total yield per acre as a function of x. Use that

function to determine the number of trees that should be planted per acre to maximize total yield.
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) The annual yield per fruit tree is fairly constant at 150 pounds per tree when the number of trees per
. acre is 35 or fewer. For each additional tree over 35, the annual yield per tree for all trees on the acre

decreases by 2 pounds due to overcrowding.
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d) Ifx represents the number of trees per acre, €Xpress the total yield per acre as a function of x. Use that
function to determine the number of trees that should be planted per acre 10 maximize total yield.
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3) The annual yield per fruit tree is fairly constant at 150 pounds per tree when the number of trees per
acre is 35 or fewer. For each additional tree over 35, the annual yield per tree for all trees on the acre
decreases by 2 pounds due to overcrowding.

a) What would be the yield for one tree if 35 trees were planted? if 36 trees were planted? if 37 trees were
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b) What would be the total yield per acre if 35 trees were planted? if 36 trees were planted? if 37 trees
were planted? Organize your results in a table.
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d) Ifx represents the number of trees per acre, express the total yield per acre as a function of x. Use that

function to determine the number of trees that should be planted per acre to maximize total yield.
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3) The annual yield per fruit tree is fairly constant at 150 poupds peztzep when the number of trees per

acre is 35 or fewer. For each additional tree over 35, the annual yicld per tree for all trees on the acre

decreases by 2 pounds due to overcrowdig;

a) What would be the yield for one tree if 35 trees \7}: p}amod? if 36 trees were planted? 1f 37 trees were
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b) What would be the total yield per acre if 35 trees were planted? if 36 trees were planted? if 37 trees
were planted? Organize your results in a table.

T{ECS { z‘;ﬂ;’i ;?gf' ac/C
3 S [?}-fsa = 5z250/b.
3¢ {3¢ 147 = 532816,

!

37 xn-fw( = 5 9oLl

)

d) Ifx represents the number of trees per gcre, €Xpress the total yield per acre as a function of x. Use that
function to determine the number of trees that should be planted per acre to maximize total yield.
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3) The annual yield per fruit tree is fairly constant a1 150 pounds per tree when the number of trees per
acre is 35 or fewer. For each additional tree over 35, the annual yield per tree for all trees on the acre
decreases by 2 pounds due to overcrowding.

2) What would be the yield for one tree if 35 trees were planted? if 36 trees were planted? if 37 trees were
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b) What would be the :M’y:eld per acre 11' 35 trees were planted? if 36 trees were p anled" if 37
were planted? Organize your results in a table.
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d) If x represents the number of trees per acre, express the total yield per acre as a function of x. Use that
function to determine the number of trees that should be planted per acre to maximize total yield.
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3) The annual yield per fruit tree is fairly constant at 150 pounds per tree when the number of trees per
acre is 35 or fewer. For each additional tree over 35, the annual yield per tree for all trees on the acre
decreases by 2 pounds due to overcrowding.

a) What would be the yield for ome free if 35 trees were planted” if 36 trees were planted? if 37 wees were
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b) What would be the totaf yield per acre if 35 trees were planted? if 36 trees were planted? 1f 37 trees
were planted? Organize your results in a table.
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d) Jfx represents the number of trees per dcre, €Xpress the total yield per acre as a function of x. Use that
function to determine the number of trees that should be planted per acre to maximize total yield.
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